IITPAL — SWAYAM

Example 1 LetA={1,2,3,4} and B = {5, 7, 9}. Determine
(i) AxB (i) BxA
(i) IsAxB=BxA? iv) Isn(AxB)=n(B xA)?
Solution Since A= {1, 2, 3,4} and B = {5, 7, 9}. Therefore,
1 AxB={(1,5),(1,7),(1,9),(2,5),2,7),
(2,9),(3,5),(3,7),(3,9),(4,5),(4,7),(4,9)}
@) BxA={(5,1),(5,2),(5,3),(54),(7,1),(1,2),
(7,3),(7,4),(9,1),(9,2),(09,3), (9, 4)}

(i) No, Ax B # B x A. Since A x B and B x A do not have exactly the same
ordered pairs.

iv) n(AxB)=n(A)xn(B)=4x3=12
n(BxA)=nB)xn(A)=4x3=12

Hence n(AxB)=n(B xA)
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Example 2 Find x and y if:
1) @x+3,y)=0x+5,-2) i) (x—=y,x+y)=(6,10)

Solution

(1) Since (4x+3,y)=Bx+5,-2),s0

4x+3=3x+5

or x=2

and y=-2
i x—y=6
x+y=10

2x =16

or x=38

8—y=6

y=2
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